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Challenge 1

e To start this challenge, make sure that you first change
the object to a football, as indicated by arrow 1).
e Then, turn on the air resistance where arrow 2) is

pointing.

e Finally, change the angle at arrow 3) to 60°.
Objective: Find the diameter of the football such that it
hits the target at its center! Press the red launch button to

test your guess.

Record your best guess here:
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Initial Values
Height: 0 m

Angle: 60°

Speed: 18 m/s

Gravity 9.81 m/;
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Challenge 2

e For this challenge, switch the object to the piano
option (arrow 1)).
e Then change the mass to 50 kg and the diameter to

1.7 m at arrow 2).
e Start with the air resistance off (see arrow 3)) and
e Set the angle at arrow 4) to 60°.
Objective a): With the air resistance off, find the perfect
speed where the piano hits the target on the bullseye.
Objective b): Turn the air resistance on, and find the speed
where the piano hits the target now.
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tile Motion

Record your best guess here for a):
Record your new best guess here for b)
(how did it change):
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